#include <Servo.h>
Servo servol;
Servo servoz2;
Servo servo3;

Servo servo4d;

attach (10) ;
.attach (11) ;
servo3.attach (12) ;

servo4d.attach (9) ;

loop () {

if (count<l) {

stop () ;

delay (1000) ;
turnForwardsl () ;
stop () ;

delay (1000) ;
turnBackl () ;
stop () ;

delay (2000) ;

turnForwards2 () ;
stop () ;

delay (1000) ;
turnBack2 () ;

stop () ;

delay (2000) ;

turnForwards3 () ;




stop () ;
delay (1000) ;
turnBack3 () ;
stop () ;
delay (2000) ;

turnForwards4 () ;
stop () ;

delay (1000) ;
turnBack4 () ;
stop () ;

delay (2000) ;

count = count + 1;

turnForwardsl () {
for (posl=0;posl<=180;) {
posl = posl + 20;
servol.write (posl) ;

delay (10) ;

turnForwards2 () {
for (pos2=180;pos2>=0;) {
pos2 = pos2 - 20;
servo2.write (pos2) ;

delay (15);

turnForwards3 () {

for (pos3=180;pos3>=0;) {

pos3 = pos3 - 20;
servo3.write (pos3) ;

delay (15);

turnForwardsé () {




for (pos4=0;posi4<=180;) {
pos4 = pos4 + 20;
servod.write (posé) ;

delay (15) ;

stop () {
posl posl;
pos2 pos2;

pos3 pos3;

pos4 pos4;

servol.write (posl) ;
servo2.write (pos2) ;
servo3.write (pos3);

servod.write (pos4) ;

turnBackl () {
for (posl=180;posl>=0;) {
posl = posl - 20;
servol.write (posl) ;

delay (15);

turnBack?2 () {
for (pos2=0;pos2<=180;) {
pos2 = pos2 + 20;
servo2.write (pos2) ;

delay (15);

turnBack3 () {
for (pos3=0;pos3<=180;) {
pos3 = pos3 + 20;
servo3.write (pos3) ;

delay (15);

turnBack4 () {

for (pos4=180;pos4>=0;) {







